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Math 218 - Quiz 1 (Spring 2011)

Common Exam - Version A

You must show your work to receive credit. Correct answers with inconsistent work will

receive no credit.

This is a closed book exam and no calculators are allowed.
Please turn off your cell phone.

The exam is out of 50.

There are 4 questions in total. Some questions have several parts to them. Make sure you

attempt them all.

DO NOT LOOK AT THE QUESTIONS UNTIL TOLD TO DO SO
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1. Consider the following:

i- (10 points) Find the row echelon form of the following matrix

1101
=25
2224
4004

ii- (5 points) Solve the system Ax =0

iii- (10 points) If the augmented matrix of a system is

1.1.0.1le
=1 250
222 4\c
0001}|d

fbr which values of a, b, ¢ and d is the above system consistent? When it is consistent, does

the system have one solution or infinitely many?

2. (10 points) Assume that A, B and C are three n X n matrices such that det(A) =1,
det(B) = 2 and det(C) = 3. Find det(ASB2C1A'ATY)

3. Assume that A% = 0. Answer the following:
i- (2 points) Find det(A).
ii- (4 points) Is I — A Invertible? If yes, find the inverse, if no supply a counterexample.

iii- (4 points) Is I — A? Invertible? If yes, find the inverse, if no supply a counterexample.

4. (5 points) If A and B are two n x n matrices. Prove that tr(AB) = tr(BA).




